## Matematický časopis

## František Šik <br> Modular and Distributive Equalities in Lattices

Matematický časopis, Vol. 23 (1973), No. 4, 342--351

Persistent URL: http://dml.cz/dmlcz/126573

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1973

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital Mathematics
Library http://project.dml.cz

# MODULAR AND DISTRIBUTIVE EQUALITIES IN LATTICES 

FRANTIŠEK ŠIK, Brno

In this paper we deal with "local" equalities characterizing the modularity and the distributivity of lattices as indentities. The main results are as follows.
$\S$ 1. The modularity (1) (see below) of a pair of elements $b, c$ of the lattice $S$ and the modular equality (2) of a triple of elements $a, b, c \in S$ is characterized by means of the set $B(a, b, c)$ (defined before Theorem 1) - Theorems 1 and 2, respectively.

In § 2 the following problem is pursued. J. v. Neumann [4] p. 108 proved that an arbitrary equality from the six distributive ones for a triple $a, b, c \in S$, which we can obtain from (3) and ( $3^{*}$ ) (see below) by all permutations of the elements $a, b, c$ together with the modularity of the sublattice $\langle a, b, c\rangle$ generated in $S$ by $a, b, c$, implies (and, of course, is then equivalent to) the distributivity of the lattice $\langle a, b, c\rangle$. M. Kolibiar [5] has verified that if we omit the requirement of modularity of the lattice $\langle a, b, c\rangle$, only the validity of all six distributive equalities together with (4) suffices (and is necessary) for the distributivity of the lattice $\langle a, b, c\rangle$. This condition is exact, i. e. none from these seven distributive equalities for $a, b, c$ can be omitted. Theorem 3 of our paper shows that the (selfdual) distributive condition (4) together with the upper or lower covering condition or with the semimodularity, respectively, guarantees (and is necessary for) the distributivity of the lattice $\langle a, b, c\rangle$. The same assertion follows from the condition $B(a, b, c) \neq \emptyset$ together with all "non-self-dual" distributive equalities for $a, b, c$. By Theorem 3, J. v. Neumann's Theorem [4] cited above (also see [7] Th. 35) is recovered, too. In Lemma 8, the lattice $\mathfrak{L}$ with three generators and with (4) as the defining relation is described ((4) is the median equality). This lattice has 24 elements.

## $\S 1$.

Let $a, b, c$ be arbitrary elements of the lattice $S$. It is well-known that the modularity of the lattice $S$ is characterized by any of the following identities:
(1) $a \vee(b \wedge c)=(a \vee b) \wedge c, \quad a \leqslant c$
$\left(1^{*}\right) a \wedge(b \vee c)=(a \wedge b) \vee c, \quad a \geqslant c$
(2) $a \vee[b \wedge(c \vee a)]=(a \vee b) \wedge(a \vee c)$
$\left(2^{*}\right) a \wedge[b \vee(c \wedge a)]=(a \wedge b) \vee(a \wedge c)$.
(See, e. g. [7] § 32.)
In a similar way the distributivity can be characterized, e. g. by means of the following equivalent identities:
(3) $a \vee(b \wedge c)==(a \vee b) \wedge(a \vee c)$
$\left(3^{*}\right) a \wedge(b \vee c)=(a \wedge b) \vee(a \wedge c)$
(4) $(a \wedge b) \vee(b \wedge c) \vee(c \wedge a)=(a \vee b) \wedge(b \vee c) \wedge(c \vee a)$ (median identity) ([7] §§ 30 and 33 ).
A quite new situation arises if we investigate the equalities (1) and ( $1^{*}$ ) for a fixed pair $b, c \in S$ and others for a fixed triple $a, b, c \in S$ (i. e. if we consider these relations 'locally"). The equivalences mentioned above lose the validity, in general, these equalities do not admit either to permute $a, b, c$. In the paper [5] examples of lattices are given, not fulfilling one and only one of the seven equalities which result from (3), (3*) and (4) by permuting $a, b, c$ (see also [1] V § 3, Ex. 5).

In this context we define (see [6] Def. 1.1):
The pair $b, c$ of elements of $S$ is said to be modular or dual modular, respectively, if $(1)$ or $\left(1^{*}\right)$ is true. We will use the following concept to characterize modular pairs (see [2]).

By the symbol $a b c$ we mean that the following equalities are satisfied

$$
(a \wedge b) \vee(b \wedge c)=b=(a \vee b) \wedge(b \vee c)
$$

Denote $B(a, b, c)=\{x \in S: a x b, b x c, c x a\}$.
Theorem 1. Let $b, c$ be elements of the lattice $S$. The pair $b, c$ is modular in $S \Leftrightarrow B(a, b, c) \neq \emptyset$ for all $a \in S, a \leqslant c$.

The proof is analogous to that of Theorem 2 [2]. 1. Assume that the pair $b, c$ is not modular in $S$. There exists $a_{0} \leqslant c$ such that

$$
a_{0} \vee(b \wedge c)<\left(a_{0} \vee b\right) \wedge c
$$

Let $x \in B\left(a_{0}, b, c\right)$. Then

$$
a_{0}=a_{0} \wedge c \leqslant\left(a_{0} \vee x\right) \wedge(x \vee c)=x=\left(a_{0} \wedge x\right) \vee(x \wedge c) \leqslant a_{0} \vee c=c
$$ thus $a_{0} \leqslant x \leqslant c$. It follows $\left(b \vee a_{0}\right) \wedge c \leqslant(b \vee x) \wedge(x \vee c)=x=(b \wedge x) \vee\left(x \wedge a_{0}\right) \leqslant(b \wedge c) \vee a_{0}<$ $<\left(a_{0} \vee b\right) \wedge c$, a contradiction.

2. Let the pair $b, c$ be modular in $S, s=(a \vee b) \wedge(b \vee c) \wedge(c \vee a), a \leqslant c$. Then by (1)

$$
s=a \vee(b \wedge c)=(a \vee b) \wedge c, \text { thus } a \leqslant s \leqslant c, b \wedge c \leqslant s \leqslant a \vee b
$$

From this one deduces easily $a \vee s=s, b \vee s=b \vee a \vee(b \wedge c)=b \vee a$, $c \vee s=c, a \wedge s=a, b \wedge s=b \wedge c \wedge(a \vee b)=b \wedge c, c \wedge s=s$. Then $a s b$ holds for $(a \vee s) \wedge(s \vee b)=s \wedge(b \vee a)=s,(a \wedge s) \vee(s \wedge b)=a \vee(b \wedge c)-$ $=s$, further $b s c$ since $(b \vee s) \wedge(s \vee c)=(b \vee a) \wedge c=s,(b \wedge s) \vee(s \wedge c)=$ $=(b \wedge c) \vee s=s \quad$ and also $c s a$ because of $(c \vee s) \wedge(s \vee a)=c \wedge s=s$, $(c \wedge s) \vee(s \wedge a)=s \vee a=s$. Finally, $s \in B(a, b, c)$ for all $a \in S, a \leqslant c$. The assertion has been proved.

With respect to $B(a, b, c)=B(x, y, z)$ being fulfilled for an arbitrary permutation $x, y, z$ of the elements $a, b, c$, by Theorem 1, we easily deduce the condition of modularity of any pair of the elements $a, b, c$.

From Theorem 1 the condition of the dual modularity follows as well. For reason of definiteness let us write $B_{S}(x, b, c)$. If $T$ denotes the lattice dual to $S$, clearly, $B_{S}(a, b, c)=B_{T}(a, b, c)$ will hold for arbitrary $a, b, c \in S$. Hence from Theorem 1 it follows immediately
$b, c$ is the dual modular pair in $S \Leftrightarrow b, c$ is the modular pair in $T \Leftrightarrow B_{T}(a, b, c) \neq \emptyset$ for all $a \in T, a \leq_{T} c \Leftrightarrow B_{S}(a, b, c) \neq \emptyset$ for all $a \in S, a_{S} \geq c$.

Thus we have obtained the following
Corollary 1. The pair $b, c$ is dual modular in $S \Leftrightarrow B(a, b, c) \neq \emptyset$ for all $a \in S, a \geqslant c$.

Let $a, b, c$ be given elements of $S$ and let us denote

$$
t=(a \wedge b) \vee(b \wedge c) \vee(c \wedge a), \quad t^{*}=(a \vee b) \wedge(b \vee c) \wedge(c \vee a)
$$

$t \leqslant t^{*}$ holds and the relation (4) can be replaced by $t=t^{*}$.
Lemma 1. $t \leqslant s \leqslant t^{*}$ holds for all $s \in B(a, b, c)$.
Proof. From the definition of the relation $s \in B(a, b, c)$ it follows $a \wedge b \leqslant(a \vee s) \wedge(s \vee b)=s=(a \wedge s) \vee(s \wedge b) \leqslant a \vee b$
and similarly $b \wedge c \leqslant s \leqslant b \vee c, c \wedge a \leqslant s \leqslant c \vee a$. Hence the assertion.
Denot. $L=[b \wedge c, b \vee c]$. There holds ([6] Lemma 1.4) that
(5) $b, c$ is a modular pair in $S \Leftrightarrow b, c$ is a modular pair in $L$. From Lemma 1, we get immediately
(6) $L=[b \wedge c, b \vee c], a \in L \Rightarrow B_{S}(a, b, c)=B_{L}(a, b, c)$.

In fact, $s \in B_{S}(a, b, c) \Rightarrow b \wedge c \leqslant t \leqslant s \leqslant t^{*} \leqslant b \vee c \Rightarrow s \in L$, thus $s \in$ $\in B_{L}(a, b, c)$. The implication $s \in B_{L}(a, b, c) \Rightarrow s \in B_{S}(a, b, c)$ is trivial.

Then from (5), (6) and Theorem 1 we obtain for the given elements $b, c \in S$
$B_{S}(a, b, c) \neq \emptyset$ for all $a \in S, a \leqslant c \Leftrightarrow b, c$ is a modular pair in $S \Leftrightarrow b, c$ is a modular pair in $L \Leftrightarrow B_{L}(a, b, c) \neq \emptyset$ for all $a \in S, b \wedge c \leqslant a \leqslant c$.

The dual proposition holds as well. We summarize as Corollary 2 of Theorem 1.
Corollary 2. Let $b, c$ be given elements of the lattice $S$. Then the folloving holds

1. $B(a, b, c) \neq \emptyset$ for all $a \in S, a \leqslant c \Leftrightarrow B(a, b, c) \neq \emptyset$ for all $a \in S, b \wedge c \leqslant$ $\leqslant a \leqslant c$.
2. $B(a, b, c) \neq \emptyset$ for all $a \in S, a \geqslant c \leftrightarrow B(a, b, c) \neq \emptyset$ for all $a \in S, b{ }^{\prime} c \geqslant$ $>a \geqslant c$.

The modular equality (2) for $a, b, c$ is characterized in the following theorem.
Theorem 2. Let $a, b, c$ be elements of the lattice $S$. Hence
$(2) \leftrightarrow B(A, b, C) \neq \emptyset$, where $C=(a \vee b) \wedge(a \vee c), A=a \vee\left[b \wedge\left(\begin{array}{cc}c & a)\end{array}\right]\right.$. The dual assertion is true as well.
Proof. If (2) does not hold, i. e. if the following is fulfilled

$$
A=a \vee[b \wedge(c \vee a)]<(a \vee b) \wedge(a \vee c)=C
$$

then $a \vee b=E>C>A>D=b \wedge(c \vee a), E>b>D, C \| b \mid A$, and $E, C, A, b, D$ is a sublattice of $S$ of the form of a "pentagon". For it is a matter of routine work to verify that $b / r=D$ and $b \vee A=E$.

If $s \in B(A, b, C)$, then $(C \vee s) \wedge(s \vee A)=s=(C \wedge s) \vee(s \wedge A)$, thus $A \leqslant s \leqslant C$. Hence $C=E \wedge C \leqslant(b \vee s) \wedge(s \vee C)=s=(b \wedge s) \vee(s \wedge A) \leqslant$ $\leqslant D \vee A-A$, a contradiction.

Thus $B(A, b, C)=\emptyset$ holds. The converse implication is trivial, for if $A=C$, then $A \in B(A, b, C)$.

## § 2.

In section 2 the distributive equalities are dealt with. Let $a, b, c$ be given elements of the lattice $S$.

Definition. Denote by (I) the systern of (six) equalities which originate from (3) ard (3*) by permuting $a, b, c$. These equalities together with $t=t^{*}$ will be called the distributive equalities for $a, b, c$.

## Lemma 2.

(7) $t^{*} \geqslant(a \vee t) \wedge(b \vee t) \geqslant t=(a \wedge t) \vee(b \wedge t)$ and dually:
$\left(7^{*}\right) t^{*}-\left(a \vee t^{*}\right) \wedge\left(b \vee t^{*}\right) \geqslant\left(a \wedge t^{*}\right) \vee\left(b \wedge t^{*}\right) \geqslant t$
a) d further four relations by permuting $a, b, c$.

Proof. Clearly it suffices to prove (7). The first inequality:

$$
\begin{aligned}
& (a \vee t) \wedge(b \vee t)=[a \vee(b \wedge c)] \wedge[b \vee(c \wedge a)] \leqslant \\
& \quad \leqslant(a \vee b) \wedge(a \vee c) \wedge(b \vee c) \wedge(b \vee a)=t^{*}
\end{aligned}
$$

The second one is trivial. The equality:

$$
\begin{aligned}
& a \quad t \quad a \wedge[(a \wedge b) \vee(b \wedge c) \vee(c \wedge a)] \geqslant(a \wedge b) \vee(a \wedge b \wedge c) \vee(a \wedge c)- \\
& \text { similarly } b \wedge t \geqslant(b \wedge a) \vee(b \wedge c) . \text { Thus } t \geqslant(a \wedge t) \vee(b \wedge t) \geqslant(a \wedge b) \vee \\
& \\
& \quad(a \wedge c) \vee(b \wedge c)=t .
\end{aligned}
$$

Corollary. $t=(a \wedge t) \vee(b \wedge t) \vee(c \wedge t)$ and dually:

$$
t^{*}=\left(a \vee t^{*}\right) \wedge\left(b \vee t^{*}\right) \wedge\left(c \vee t^{*}\right)
$$

Remark. The equalities in (7) and (7*), Lemma 2, imply the following distributive equalities of the types (3) and (3*)

$$
\begin{aligned}
& \left(a \vee t^{*}\right) \wedge\left(b \vee t^{*}\right)=(a \wedge b) \vee t^{*} \\
& (a \wedge t) \vee(b \wedge t)=(a \vee b) \wedge t
\end{aligned}
$$

and further four equalities by permuting $a, b, c$.
It follows from $t^{*}=\left(a \vee t^{*}\right) \wedge\left(b \vee t^{*}\right) \geqslant(a \wedge b) \vee t^{*} \geqslant t^{*}$. Dually the second equality.

Lemma 3. If ( I$)$ holds, we have $(a \vee t) \wedge(b \vee t)=t^{*}$ and dually $\left(a \wedge t^{*}\right)$ $\vee\left(b \wedge t^{*}\right)=t$. Further four equalities by permuting $a, b, c$.

Proof. $a \vee t=a \vee(b \wedge c)=(a \vee b) \wedge(a \vee c), b \vee t=b \vee(a \wedge c)$ $=(b \vee a) \wedge(b \vee c) \Rightarrow(a \vee t) \wedge(b \vee t)=(a \vee b) \wedge(b \vee c) \wedge(c \vee a)=t^{*}$.

Lemma 4. If (I) and $B(a, b, c) \neq \emptyset$ hold, then (4) is true.
Proof. By Lemma $1 t \leqslant s \leqslant t^{*}$ whenever $s \in B(a, b, c)$ and by Lemma 3 $t^{*}=(a \vee t) \wedge(b \vee t) \leqslant(a \vee s) \wedge(b \vee s)=s \leqslant t^{*}$, i. e. $s=t^{*} ;$ dually, we obtain $s=t$. Hence (4) $t=t^{*}$.

Lemma 5. (4) implies $B(a, b, c)=\{t\}=\left\{t^{*}\right\}$.
Proof. By hypothesis $t=t^{*}$ and by Lemma 2

$$
(a \vee t) \wedge(b \vee t)=\left(a \vee t^{*}\right) \wedge\left(b \vee t^{*}\right)=t^{*}=t=(a \wedge t) \vee(b \wedge t)
$$

Analogously btc, cta. Hence $t \in B(a, b, c)$. By Lemma l, one gets : $s \in B(a, b, c)$
$\Rightarrow t^{*} \geqslant s \geqslant t=t^{*} \Rightarrow s=t$, hence $B(a, b, c)=\{t\}=\left\{t^{*}\right\}$.
Corollary. (I) $\Rightarrow$ card $B(a, b, c) \leqslant 1$. (In the case of equality there is $B(a, b, c)$ $=\{t\}=\left\{t^{*}\right\}$.)

Proof. Either $B(a, b, c)=\emptyset$ holds or, by Lemmas 4 and $5, B(a, b, c)$ $=\{t\}\left(=\left\{t^{*}\right\}\right)$ is true.

Lemma 6. If (4) holds, we have

$$
\begin{equation*}
t=t^{*}=[a \wedge(b \vee c)] \vee[b \wedge(c \vee a)] \tag{8}
\end{equation*}
$$

$$
\begin{equation*}
a \vee[b \wedge(c \vee a)]=a \vee(b \wedge c)=t^{*} \vee a=t \vee a \tag{9}
\end{equation*}
$$

and further relations by permuting $a, b, c$, and by dualisation.
Proof. By Lemma 5, $t=t^{*}=[(a \vee b) \wedge(a \vee c)] \wedge(b \vee c) \geqslant$ $\geqslant\{a \vee[b \wedge(c \vee a)]\} \wedge(b \vee c) \geqslant[a \wedge(b \vee c)] \vee[b \backslash(c \vee a)] \geqslant(a \wedge b)$ $\vee(a \wedge c) \vee(b \wedge c) \vee(b \wedge a)=t$.

Then (8) holds and therefore

$$
t \vee a=t^{*} \vee a=a \vee[a \wedge(b \vee c)] \vee[b \wedge(c \vee a)]=a \vee[b \wedge(c \vee a)]
$$

Finally, from the definition of $t$ we obtain $t \vee a=a \vee(b \wedge c)$. Thus (9).
Corollary. If (4) holds, the following is true for arbitrary $a, b, c:(2) \leftrightarrow(3)$, $\left(2^{*}\right) \leftrightarrow\left(3^{*}\right)$ and further equivalences by permuting $a, b, c$.

Lemma 7. If in the modular lattice for $a, b, c$ one of the equalities, which originate from (3) and $\left(3^{*}\right)$ by permuting $a, b, c$, does not hold, then none holds.
(Lemma 7 follows from J. v. Neumann's Theorem [4], p. 108 - see also [7] Th. 35).

Lemma 8. From the hypothesis (4) it follows that the set $\mathfrak{L}=\mathfrak{H} \cup \mathfrak{B} \cup \mathfrak{A}$ * is the sublattice $\langle a, b, c\rangle$ of $S$, where $\mathfrak{A}:=\{t \vee a, t \vee b, t \vee c ; C=(a \vee b) \wedge(a \vee c)$, $P \quad(a \vee c) \wedge(b \vee c), Q=(a \vee b) \wedge(b \vee c) ; a \vee b, b \vee c, a \vee c ; a \vee b \vee c\}$, $\mathfrak{B}-\{a, t, b, c\}, \mathfrak{I}^{*}$ is the set of the elements dual to those of $\mathfrak{H}$.

Proof. It suffices to prove that for $\alpha, \alpha_{1} \in \mathfrak{A} \backslash\{a \vee b \vee c\}, \beta, \beta_{1} \in \mathfrak{B}$ the elements $\alpha \vee \alpha_{1}, \alpha \vee \beta, \alpha \vee \alpha_{1}^{*}, \alpha \wedge \alpha_{1}, \alpha \wedge \beta, \alpha \wedge \alpha_{1}^{*}, \beta \vee \beta_{1}$ belong to $!$.

We consider $\alpha \vee \alpha_{1}$. (We write $\alpha_{1} \sim \delta$ instead of $\alpha \vee \alpha_{1}=\delta$.)
$\alpha=t \vee a:$
$t \vee b \sim a \vee b, \quad t \vee c \sim a \vee c, \quad C \sim C ; \quad a \vee c \geqslant t \vee a \vee P \geqslant t \vee a \vee t \vee c=$ $-a \vee c \rightarrow P \sim a \vee c$; analogously $Q \sim a \vee b ; a \vee b \sim a \vee b, b \vee c \sim a \vee b \vee c$, $a \vee c \sim a \vee c$.
$\alpha \quad t \vee b$ or $\alpha=t \vee c$ - it suffices to interchange $a$ and $b$ or $a$ and $c$, respectively, in the above section.
$\alpha-C: \quad a \vee c \geqslant C \vee P \geqslant t \vee a \vee t \vee c=a \vee c \Rightarrow P \sim a \vee c ;$ analogously $Q \sim a \vee b: a \vee b \sim a \vee b ; C \vee b \vee c \geqslant C \vee Q \vee C \vee P=a \vee b \vee c \rightarrow b \vee c \sim$ $\sim a \vee b \vee c$.
$\alpha \quad P$ or $\alpha=Q$ - interchange $a$ and $c$ or $a$ and $b$, respectivòy, in the furegoing section.
$\alpha \quad a \vee b: b \vee c \sim a \vee b \vee c, a \vee c \sim a \vee b \vee r$.
$\alpha \quad b \vee c$ or $\alpha=a \vee c$ - interchange $a$ and $c$ or $b$ and $c$, respectively, in the foregoing section.

We consider $\alpha \vee \beta$.
$\alpha \quad t \vee a: a \sim t \vee a, t \sim t \vee a, b \sim a \because b, c \sim: \vee \vee$.
$\alpha-C: a \sim C, t \sim C ; a \vee b \geqslant C \geqslant a=-a \vee b \geqslant C \vee b \geqslant a \vee l: \Rightarrow b \sim a \vee b$;
$a \vee c \geqslant C \vee c \geqslant a \vee c \Rightarrow c \sim a \vee c$.
$\alpha \quad l^{\prime}$ or $\alpha=Q$ - analogously.
$\alpha \quad a \vee b: a \sim a \vee b, t \sim a \vee b, b \sim a \vee b, c \sim a \vee b \vee c$.
$\alpha=b \vee c$ or $\alpha=-a \vee c \cdots$ analogousiy.
We consider $\alpha \vee \alpha_{1}^{*}$; it suffices to state that $\alpha \geqslant t^{*}=t \geqslant \alpha_{1}^{*}$.
We consider $\alpha \wedge \alpha_{1}$. (Now, $\alpha_{1} \sim \delta$ stands for $\alpha \wedge \alpha_{1}=\delta$.)

```
    \(\alpha=t \vee a: t=t^{*} \geqslant(t \vee a) \wedge(t \vee b) \geqslant t\) by Lemma 2, hence \(t b \sim t\);
\(t / c \sim t\) (analogously), \(C \sim t \vee a ; t=t^{*}=C \wedge P \Rightarrow P \sim t ; Q \sim t\) (similarly),
a \(b \sim t \vee a ; t=t^{*}=C \wedge(b \vee c) \geqslant(t \vee a) \wedge(t \vee c)>t \rightarrow b c \sim t\);
\(a \quad c \sim t \vee a\).
    \(\alpha=t \vee b\) or \(\alpha=t \vee c-\) similarly.
    \(\alpha=C: P \sim t^{*}, Q \sim t^{*}, a \vee b \sim C, b \vee c \sim t^{*}, a \downarrow c \sim C\).
    \(\alpha=P\) or \(\alpha=Q\) - similarly.
    \(\alpha=a \vee b: b \vee c \sim Q, a \vee c \sim C\).
    \(\alpha=b \vee c\) or \(\alpha=a \vee c\) - similarly.
```

    We consider \(\beta \wedge \alpha\).
    f \(=a: t \vee a \sim a ; a \wedge t=a, ~(t \vee a) \wedge(t \vee b)\left(b y\left(7^{*}\right)\right.\) and \(\left.(4)\right) \Rightarrow a \quad t\)
    $-a \wedge(t \vee b) \geqslant a \wedge t \Rightarrow t \vee b \sim t \wedge a$; similarly $t \vee c \sim t \wedge a, C \sim a ;$ by
section $\alpha \wedge \alpha_{1}$ we have $t-(t \vee a) \wedge P$ hence $a \wedge t=a \wedge(t \vee a) \quad P \quad a \quad P-$
«, $(b \vee c)=t \wedge a \Rightarrow P \sim t \wedge a$; analogously $Q \sim t \quad a: a \quad b \sim a, b \backslash c \sim$
$\sim t \quad a, a \vee c \sim a$.
$\beta=t: t \wedge \alpha=t$ because of $\alpha \geqslant t$.
$;=b$ or $\beta=c$ - analogously to the case $\beta=a$.
We consider $\alpha \wedge \alpha_{1}^{*}$.


The lattice \&

But $\alpha \quad \alpha_{1}^{*}=\alpha_{1}^{*}$ for $\alpha \geqslant t=t^{*} \geqslant \alpha_{1}^{*}$.
We consider $\beta \vee \beta_{1}$. Clearly $\beta \vee \beta_{1} \in \mathfrak{A} \subseteq \mathfrak{L}$. Thus we have proved the lemma.
If different symbols in $\mathcal{\sim}$ represent different elements of $S$, the set $\mathcal{L}$ stands for the lattice $\overline{\mathfrak{L}}$, the graph of which is in the figure. The sublattice $\langle a, b, c$ generated in $S$ by $a, b, c$ which satisfy (4) is a factor-lattice of $\mathfrak{L}$ corresponding to a suitable congruence over $\overline{\mathfrak{L}}$.

Definition.Denote by (II) one of the following conditions

$$
\begin{equation*}
\langle a, b, c\rangle \text { satisfies the upper covering condition } \tag{14}
\end{equation*}
$$

(15) $\langle a, b, c\rangle$ satisfies the lower covering condition
(16) $\langle a, b, c\rangle$ is semimodular.

Remark. Since the lattice $\langle a, b, c\rangle$ is finite supposing (4), the lower covering condition is equivalent to the semimodularity ([7] Th. 65).

Theorem 3. Let $a, b, c$ be elements of the lattice S. Then the following conditions are equivalert.
(a) There hold (4) and (II).
(b) There hold (I) and $B(a, b, c) \neq \emptyset$.
(c) The lattice $\langle a, b, c\rangle$ is distributive.
(d) The lattice $\langle a, b, c\rangle$ is modular and one of the (seven) distributive equalities for $a, b, c$ is true.

Proof. $(\mathrm{a}) \Rightarrow(\mathrm{b})$ : Suppose that $(3)$ is not true, i. e. that the following holds

$$
\begin{equation*}
a \vee(b \wedge c)<(a \vee b) \wedge(a \vee c) \tag{17}
\end{equation*}
$$

By Lemma 6 (9) we have $a \vee[b \wedge(c \vee a)]<(a \vee b) \wedge(a \vee c)$. As in the proof of Theorem 2, the following holds $E-a \vee b>C=(a \vee b) \wedge(a \vee c)>$ $>A-a \vee[b \wedge(c \vee a)]=t \vee a>D=b \wedge(a \vee c)=t \wedge b, E>b>D$, $C\|b\| A$ and the set $\{E, C, A, D, b\}$ is a sublattice of $S$. In the Hasse diagram of $\mathbb{Z}$ the elements $A, b, C, D, E$ are already marked. The lattice $\langle a, b, c\rangle$ is a congruence over $\overline{\mathcal{L}}$ for which there holds that any two of the elements $A, b, C, D, E$ are non-congruent. Suppose now that (II) is represented by (15) or (by the equivalent condition) (16). Then from $b \succ D=A \wedge b(b$ covers $D$ ) it follows $A \prec A \vee b=E$, while $A<C<E$, a contradiction.

Suppose that (II) is represented by (14). The elements $E>C>A \geqslant t$, $E \geqslant Q \geqslant t$ form a sublattice of $S$ because $Q \wedge C=t^{*}=t, Q \wedge A=Q \wedge$
$(t \vee a)-t$ (see section $\alpha \wedge \alpha_{1}$ of the proof of Lemma 8), $Q \vee C=a \vee b=E$ (section $\alpha \vee \alpha_{1}$, Lemma 8), $Q \vee A=Q \vee(t \vee a)=a \vee b=E$ (section $\alpha \vee \alpha_{1}$, Lemma 8). If $C \vee Q=E \succ Q$, then (14) gives $C \succ C \wedge Q=t$, which together with $C>A \geqslant t$ implies $A=t$, i. e. $t \geqslant a$. But now $Q \geqslant t \vee b \Rightarrow Q \geqslant t \vee b \vee a=$ $=a \vee b \quad E$, and $Q=E$ contradicts the hypothesis. Since there are two possibilities only (see the diagram of $\overline{\mathcal{Q}}$ ), $E \succ Q$ or $E=Q$ and the first one was excluded, there remains $E=Q$.

The elements $E>C>A \geqslant t, E(=Q) \geqslant t \vee b \geqslant t$ form a sublattice of $S$ for $(t \vee b) \wedge C=t$ (see section $\alpha \wedge \alpha_{1}-$ change $a$ and $b$ in the relation $(t \vee a) \wedge Q=t),(t \vee b) \wedge A=(t \vee b) \wedge(t \vee a)=t\left(\left(7^{*}\right)\right.$ in Lemma 2 and (4)), $(t \vee b) \vee C \geqslant(t \vee b) \vee a=a \vee b \Rightarrow(t \vee b) \vee C=a \vee b=E,(t \vee b) \vee A-$ $=(t \vee b) \vee(t \vee a)=a \vee b=E$. From (14) and the supposition $E=C \vee$ $\vee(t \vee b) \succ t \vee b$ we obtain $C \succ C \wedge(t \vee b)=t$. Since $C>A \geqslant t$, then $t=A$ and thus $t \geqslant a$. It follows that $t \vee b \geqslant a \vee b=E$ and so $t \vee b=E$, a contradiction. Since there are only two possibilities $E=Q \succ t \vee b$ or $E=Q=t \vee b$ (see the diagram of $\overline{\mathfrak{L}}$ ) and the first one has been excluded, there remains $E=Q=t \vee b$.

Finally, $E>b$, thus $E=Q=t \vee b \succ b$ (see the diagram of $\overline{\mathfrak{L}}$ ). Since the elements $E>b>D, E>C>A>D$ form a sublattice, from the relation $E=C \vee b \succ b$ and from (14) it follows that $C \succ C \wedge b=D$ while $C>A>D$, a contradiction.

We conclude that the hypothesis (17) is false.
In an analogous way (by way of permuting $a, b, c$ and by dualisation), one deduces from (4) and (II) all the equalities belonging to (I). By Lemma 5 $B(a, b, c) \neq \emptyset$ holds. Hence (b).
(b) $\Rightarrow$ (c): By Lemma 4 there holds (4). Thus all seven distributive equalities for $a, b, c$ hold. Then (c) results from Corollary 2 of Theorem 2a in [5] which is formulated as follows:

The sublattice gentrated by three elements $a, b, c$ of a lattice $S$ is distributive if and only if all seven distributive equalities for $a, b, c$ are true.
(c) $\Rightarrow$ (d) is evident.
$(\mathrm{d}) \Rightarrow(\mathrm{a})$ : In the modular lattice $\langle a, b, c\rangle$ there hold (14), (15) and (16) (see i. e. [7] Th. 37 and p. 136). We shall prove that (4) and thus (a) is true. In (d) one supposes (4) or one of the six equalities of (I). In the latter case (I) holds by Lemma 7. From (I) and the modularity (4) results for

$$
\begin{aligned}
t^{*} & =(c \vee a) \wedge(a \vee b) \wedge(b \vee c)=[a \vee(b \wedge c)] \wedge(b \vee c)= \\
& =[a \wedge(b \vee c)] \vee(b \wedge c)=(a \wedge b) \vee(a \wedge c) \vee(b \wedge c)=t
\end{aligned}
$$

## REFERENCES

[1] БИРКГОФФ, Г.: Теория структур. Москва 1952.
[2] DRAŠKOVIČOVÁ, H.: Über die Relation ,,zwischen" in Verbänden. Mat. f yz. časop. 16, 1966, 13-20.
[3] HERMES, H.: Einführung in die Verbandstheorie. Berlin-Heidelberg - New York 1967.
[4] NEUMANN, J. v.: Examples of continuous geometries. Institute for Advanced Study, Princeton 1936-37.
[5] KOLIBIAR, M.: Distributive sublattices of a lattice. Proc. Amer. Math. Soc., 34, 1972, 359-364.
[6] MAEDA, S. and MAEDA, F.: Symmetric lattices. Berlin-Heidelberg-New York 1970.
[7] SZÁSZ, G.: Théorie des treillis. Aladémiai kiadó, Budapest 1974.
Received June 14, 1972
Katedra algebry a geometrie
Prírodovědecké fakulty Univerzity J. E. Purkyně Brno

